RECEIVED

APR 06 2020

LEGAL SERVICES

Randolph Hospital,	
Randolph Health, E	t al. (B10)
20-10247 (LMJ)	#1 # 15 # 15 # 5 # 6 # 6 # 6 # 1 # 6 # 1 # 6 # 6 # 6 # 6
RAH	0000000005

Fill in this information to identify the case: Kandolph, Hospital, INC Debtor 1 Debtor 2 (Spouse, If filing) United States Bankruptcy Court for the: Widdle istrict of N. Carolina

Official Form 410

Proof of Claim

04/19

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

Part 1: Identify the C	laim	
Who is the current creditor?	Name of the current creditor (the person or entity to be paid for this cla	im)
Has this claim been acquired from someone else?	☐ Yes. From whom?	
3. Where should notices and payments to the creditor be sent? Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Where should notices to the creditor be sent? Landauer, INC Name 2 Science Rd Number Street Colenwood, IL 60425 City State ZIF Code Contact phone 708-755-1319 Contact email ACCOUNTS Receivable & Landauer INC COM Uniform claim identifier for electronic payments in chapter 13 (if you us	Where should payments to the creditor be sent? (if different) Name Number Street City State ZIP Code Contact phone Contact email
4. Does this claim amend one already filed?	No ☐ Yes. Claim number on court claims registry (if known)	Filed on / YYYY
5. Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?	

6. Do you have any number you use to identify the debtor?	No No Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor: 1544
7. How much is the claim?	\$ 5,329,20 Does this amount include interest or other charges? No Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).
8. What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. Dosimetry Services
9. Is all or part of the claim secured?	Yes. The claim is secured by a lien on property.
10. Is this claim based on a lease?	Yes. Amount necessary to cure any default as of the date of the petition.
11. Is this claim subject to a right of setoff?	Yes. Identify the property:

12. Is all or part of the claim	ZKN0							
entitled to priority under	Yes. Check one:	Amount entitled to priority						
11 U.S.C. § 507(a)? A claim may be partly	☐ Domestic support obligations (including alimony and	•						
priority and partly nonpriority. For example,	11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	₽						
in some categories, the law limits the amount entitled to priority.	Up to \$3,025* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).							
, and the proof.	☐ Wages, salaries, or commissions (up to \$13,650*) estankruptcy petition is filed or the debtor's business et 11 U.S.C. § 507(a)(4).							
	☐ Taxes or penalties owed to governmental units. 11 L	J.S.C. § 507(a)(8).						
	Contributions to an employee benefit plan. 11 U.S.C	. § 507(a)(5).						
	☐ Other. Specify subsection of 11 U.S.C. § 507(a)()	that applies. \$						
	* Amounts are subject to adjustment on 4/01/22 and every 3 years.	ears after that for cases begun on or after the date of adjustment.						
Part 3: Sign Below								
The person completing	Check the appropriate box:							
this proof of claim must sign and date it.	I am the creditor.							
FRBP 9011(b).	I am the creditor's attorney or authorized agent.							
If you file this claim	I am the trustee, or the debtor, or their authorized agent	Bankruptcy Rule 3004.						
electronically, FRBP 5005(a)(2) authorizes courts	I am a guarantor, surety, endorser, or other codebtor. Ba	ankruptcy Rule 3005.						
to establish local rules specifying what a signature								
is.	understand that an authorized signature on this <i>Proof of Cla</i> amount of the claim, the creditor gave the debtor credit for ar	aim serves as an acknowledgment that when calculating the						
A person who files a	amount of the Gains, the creditor gave the debtor credit for ar	ry payments received toward the debt.						
fraudulent claim could be fined up to \$500,000, imprisoned for up to 5	have examined the information in this Proof of Claim and hand correct.	ave a reasonable belief that the information is true						
years, or both. 18 U.S.C. §§ 152, 157, and	declare under penalty of perjury that the foregoing is true ar	nd correct.						
3571.	2/07/2000							
	Executed on date O/O (/OOO)							
	Signature	. <u>. </u>						
	Print the name of the person who is completing and sign	ning this claim:						
	Name Eddye	Hurt						
	First name / Middle nam	Last name						
	Title OK, ONE FORS	201621						
	Identify the corporate servicer as the company i	f the authorized agent is a servicer.						
	Address <u>a Science</u> Rd							
	Number Street	The lostes						
	City	State ZIP Code						
	Contact phone <u>708-755-1319</u>	Email ACCOUNTSKeceivable Q						

Landauer INC. Com

Remit Payment to: P.O. Box 809051 Chicago, IL 60680-9051

Original Invoice

RANDOLPH HOSPITAL INC ATTN ACCTS PAYABLE 364 WHITE OAK STREET ASHEBORO, NC 27203

Shipped to Address: RANDOLPH HOSPITAL INC ATTN GARY ABODE **DEPT OF RADIOLOGY 364 WHITE OAK STREET** ASHEBORO, NC 27203

Page

	Purchase Order PO REQUIR		Account Number 51564	Invoice 2019-12		Invoice Number 100744847		·	Federal ID 06-1218089	
Series	Product ID	Produ	ct Description	Service Date	Wear Date	Qty	No. Ships	Unit Price	Extended Price	
		Dosimetry	Service Monthly						11.10	
		Dosimetry	Service Bi-Monthly						1,459.59	
		Unreturned	d Dosimeters						3.00	
	1	Additional	Dosimeters	·					12.00	
	01131-000	Dosimeter	Return Package - Postage Due						20.00	
·	01132-000	DHL PrePa return)	id Return Label (Dosimeter						6.00	
**Please a	 ccess our web	 site for deta 	ils regarding unreturned dosime	 eters and to 	 view or dow 	 mload you 	ا r Invoic ا ا	es at www.	 myLDR.com. 	
annual pe	rcentage rate	of 18 perce	date of the invoice. A finance ent) will be added to all past-du produced in compliance with Fair Labo	e accounts.			(an	INVOICE TOTAL IN (USD)	1,511,7	

Please return bottom portion with payment.

Remit payment by using o	ne of the following meti	ahor













Susto	mer	Nan	ne

51564

Invoice Number

100744847

Invoice Date

* Telephone: 800.323.8830 * Mail: P.O. Box 809051, Chicago, IL 60680-9051

* Email: accountsreceivable@landauerinc.com

Please reference involce number on check

Print Name On Card

Card Number

Expiration Date www.myLDR.com Email / Telephone

Customer Number

2019-12-16

Amount Due:

1,511.75

USD

Landauer now accepts USD credit card payments online via myLDR.

Remit Payment to: P.O. Box 809051 Chicago, IL 60680-9051

Original invoice

RANDOLPH HOSPITAL INC ATTN ACCTS PAYABLE 364 WHITE OAK STREET ASHEBORO, NC 27203 Shipped to Address: RANDOLPH HOSPITAL INC ATTN GARY ABODE DEPT OF RADIOLOGY 364 WHITE OAK STREET ASHEBORO, NC 27203

	Purchase Order PO REQUIR		Account Number 51564	Invoice 2019-1		Invoice Number 100744847			Federal ID 06-1218089	
Series	Product ID	Produ	ct Description	Service Date	Wear Date			Unit Price	Extended Price	
	01132-000	DHL PrePa return)	id Return Label (Doslmeter	2019-11-08		1		6.00	6.00	
	01131-000	Dosimeter	Return Package - Postage Due	2019-11-12		1		10.00	10.00	
	01131-000	Dosimeter	Return Package - Postage Due	2019-12-11		1		10.00	10.00	
		Series :	Total						26.00	
СР	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	19		7.44	141.36	
CP		Series 1	Total						141.36	
ORT	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	6		7.44	44.64	
ORT	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	1		7.44	7.44	
ORT	01106-000	Additional	dosimeter fee	2019-11-01		1		3.00	3.00	
ORT		Series '	Total						55.08	
RAD	2MO	Dosimetry	Service Bi-Monthly		2019-09-01	1		7.44	7.44	
RAD	1MO	Dosimetry	Service Monthly		2019-10-01	1		3.72	3.72	
RAD	1MO	Doslmetry	Service Monthly		2019-11-01	1		3.72	3.72	
RAD	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	1		7.44	7.44	
RAD	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	105		7.44	781.20	
RAD	2MO	Doslmetry	Service Bi-Monthly		2019-11-01	1		7.44	7.44	
RAD	2MO	Doslmetry	Service Bi-Monthly	İ	2019-11-20	1	}	7.44	7.44	
RAD	1MO	Dosimetry	Service Monthly		2019-12-01	1		3.72	3.72	
RAD	01106-000	Additional	dosimeter fee	2019-09-01		1		3.00	3.00	
RAD	01106-000	Additional	dosimeter fee	2019-11-01		1		3.00	3.00	
RAD	01106-000	Additional	dosimeter fee	2019-11-01		1		3.00	3.00	
RAD		Series :	Total						831.12	
SP	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	14		7.44	104.16	
SP		Series '	Total						104.16	
ST	2MO	Dosimetry	Service BI-Monthly		2019-11-01	8		7.44	59.52	
ST		Series '	Total						59.52	
SUR	2MO	Doslmetry	Service Bi-Monthly		2019-11-01	37		7.44	275.28	
SUR	01030-000	Luxel late/	unreturned dosimeter fee**			1		3.00	3.00	



Remit Payment to: P.O. Box 809051 Chicago, IL 60680-9051

Original Invoice

RANDOLPH HOSPITAL INC ATTN ACCTS PAYABLE 364 WHITE OAK STREET ASHEBORO, NC 27203 Shipped to Address: RANDOLPH HOSPITAL INC ATTN GARY ABODE DEPT OF RADIOLOGY 364 WHITE OAK STREET ASHEBORO, NC 27203

	Purchase Order NO PO REQUIRED		Account Number 51564	Invoice Date 2019-12-16		Invoice Number 100744847				i i	Federal ID 06-1218089	
Series	Product ID	Produ	ct Description	Service Date	Wear Date	Qty	No. Ships	Unit Price	Extended Pri			
SUR		Series 1							278.			
VAS	2MO	Dosimetry	Service Bi-Monthly		2019-11-01	2		8.1:	2 16.			
VAS		Series ⁻	Fotal						16.			
		Account 1	Total for Services Provided	1					1,511.			
	 DUE TO ROU	 NDING, UN	IIT PRICE FOR DOSIMETRY	 SERVICE F	 FOR THE L	 AST SERIE	 SM/	 AY DIFFER	SLIGHTLY			
				1	1]			
					İ							
					}							
				1								
				}								
				}		1						
	İ											



Remit Payment to: P.O. Box 809051 Chicago, IL 60680-9051

Original Invoice

RANDOLPH HOSPITAL INC ATTN ACCTS PAYABLE **364 WHITE OAK STREET** ASHEBORO, NC 27203

Shipped to Address: RANDOLPH HOSPITAL INC ATTN GARY ABODE **DEPT OF RADIOLOGY** 364 WHITE OAK STREET ASHEBORO, NC 27203

Page

1

	Purchase Order PO REQUIR		Account Number 51564	Invoice 2020-0		Invoice Number 100773346			Federal ID 06-1218089	
Series	Product ID	Produc	ct Description	Service Date	Wear Date	Qty	No. Ships	Unit Price	Extended Price	
		Dosimetry	Service Monthly						5.64	
		Dosimetry	Service Bi-Monthly						1,406.8	
		Unreturned	l Dosimeters						3.00	
		Additional	Dosimeters						15.0	
	01132-000	DHL PrePa return)	ld Return Label (Doslmeter						12.0	
	30303-1YR	Academy S Courses	ite License-Full Access to Online						2,375.0	
'Please ac	ccess our web	site for deta	ils regarding unreturned dosime	iters and to	view or dow	rnload you	r invoi	ces at www.	.myLDR.com.	
nnual pe	rcentage rate	of 18 perce	date of the invoice. A finance int) will be added to all past-duproduced in compliance with Fair Labo	e accounts			(an	INVOICE TOTAL IN (USD)		

Please return	bottom	portion	with	payment
---------------	--------	---------	------	---------













Sustomer Name	ù	8	to	m	er	N	a	m	ŧ
---------------	---	---	----	---	----	---	---	---	---

Customer Number

Invoice Number

100773346

Invoice Date

2020-03-17

* Email: accountsreceivable@landauerinc.com
Please reference invoice number on check

* Telephone: 800.323.8830 * Mail: P.O. Box 809051, Chicago, IL 60680-9051

Print Name On Card Card Number

Expiration Date www.myLDR.com Email / Telephone

51564

Amount Due: \$

3,817.45

USD

GO PAPERLESS. Please email your request to emailmyinvoice@landauer.com

Remit Payment to: P.O. Box 809051 Chicago, IL 60680-9051

Original Invoice

RANDOLPH HOSPITAL INC ATTN ACCTS PAYABLE 364 WHITE OAK STREET ASHEBORO, NC 27203 Shipped to Address: RANDOLPH HOSPITAL INC ATTN GARY ABODE DEPT OF RADIOLOGY 364 WHITE OAK STREET ASHEBORO, NC 27203

Purchase Order		Account Number	Invoice Date		Invoice Number			Federal ID		
NO PO REQUIRED		51564	2020-03-17		100773346		06-1218089		-121808 9	
<u></u>	1			· · · · · · · · · · · · · · · · · · ·	<u> </u>					т
Series	Product ID	Produ	ct Description	Service Date	Wear Date	Qty	No. Ships	Unit Price		Extended Price
	30303-1YR	Academy S Courses	Site License-Full Access to Online	2020-01-01		1		2,37	5.00	2,375.00
	01132-000	DHL PrePa return)	id Return Label (Dosimeter	2020-01-10		1			6.00	6.00
	01132-000	DHL PrePa return)	id Return Label (Doslmeter	2020-03-05		1			6.00	6.00
		Series :	Fotal							2,387.00
СР	2MO	Dosimetry	Service Bi-Monthly	1	2020-01-01	19			3.76	71.44
CP	2MO	Doslmetry	Service Bi-Monthly		2020-03-01	1			3.76	3.76
CP	2MO	Doslmetry	Service Bi-Monthly		2020-03-01	19			3.76	71.44
СР	01106-000	Additional	dosimeter fee	2020-03-01		1			3.00	3.00
СР		Series ⁻	Total			:				149.64
ORT	2MO	Doslmetry	Service Bi-Monthly		2020-01-01	6			3.76	22.56
ORT	2MO	Doslmetry	Service Bi-Monthly		2020-01-01	1			3.76	3.76
ORT	2MO	Dosimetry	Service Bi-Monthly		2020-03-01	1			3.76	3.76
ORT	2MO	Dosimetry	Service Bi-Monthly		2020-03-01	6			3.76	22.56
ORT	01106-000	Additional	dosimeter fee	2020-01-01		1			3.00	3.00
ORT	01106-000	Additional	dosimeter fee	2020-03-01		1			3.00	3.00
ORT		Series '	Total							58.64
RAD	1MO	Dosimetry	Service Monthly		2020-01-01	1			1.88	1.88
RAD	2MO	Doslmetry	Service Bi-Monthly		2020-01-01	1			3.76	3.76
RAD	2MO	Dosimetry	Service Bi-Monthly		2020-01-01	105	li		3.76	394.80
RAD	1MO	Dosimetry	Service Monthly		2020-02-01	1			1.88	1.88
RAD	1MO	Doslmetry	Service Monthly		2020-03-01	1			1.88	1.88
RAD	2MO	Doslmetry	Service Bi-Monthly		2020-03-01	106			3.76	398.56
RAD	01106-000	Additional	dosimeter fee	2020-01-01		1			3.00	3.00
RAD		Series [*]	Total							805.76
SP	2MO	Doslmetry	Service Bi-Monthly		2020-01-01	13			3.76	48.88
SP	2MO	Doslmetry	Service Bi-Monthly		2020-03-01	13			3.76	48.88
SP		Series '	Total							97.76
ST	2MO	Dosimetry	Service Bi-Monthly		2020-01-01	8			3.76	30.08

LANDAUER®

D-U-N-S 18-980-7159

Remit Payment to: P.O. Box 809051 Chicago, IL 60680-9051

Original Invoice

RANDOLPH HOSPITAL INC ATTN ACCTS PAYABLE 364 WHITE OAK STREET ASHEBORO, NC 27203 Shipped to Address: RANDOLPH HOSPITAL INC ATTN GARY ABODE DEPT OF RADIOLOGY 364 WHITE OAK STREET ASHEBORO, NC 27203

Purchase Order NO PO REQUIRED		Account Number 51564		Invoice Date 2020-03-17		Numb 73341	1	Federal ID 06-1218089	
Series	Product ID	Produ	ct Description	Service Date	Wear Date	Qty	No. Ships	Unit Price	Extended Price
ST	2MO	Dosimetry	Service Bi-Monthly		2020-03-01	8		3.76	30.08
ST		Series '	Total						60.16
SUR	2MO	Doslmetry	Service BI-Monthly		2020-01-01	1		3.76	3.76
SUR	2MO	Dosimetry	Service Bi-Monthly		2020-01-01	31		3.76	116.56
SUR	2MO	Dosimetry	Service BI-Monthly		2020-03-01	31		3.76	
SUR	01106-000	Additional	dosimeter fee	2020-01-01		1		3.00	
SUR	01030-000	Luxel late/	unreturned dosimeter fee**			1		3.00	
SUR		Series 1	Total						242.88
VAS	2MO	Dosimetry	Service Bl-Monthly		2020-01-01	2		4.05	8.09
VAS	2MO	Dosimetry	Service BI-Monthly		2020-03-01	2		3.76	7.52
VAS		Series 1	Total		l				15.61
		Account -	Total for Services Provided				İ		3,817.45

2 Science Road Glenwood, Illinois 60425-1586 landauer.com

-S.SUBUMBAN IL GERA 02 MAR 20

FM 51

NEOPOST 03/30/2020



ZIP 60425

RECEIVED

APR 0 6 2020

LEGAL SERVICES

Randolph Hospital, Ivc 01B/A Randolph 141th Claims Processing Ctv. C/O E piq Corp. Restructuring, CCC

PO BOX 4421

Beaverton, DR 97076-4421

97076-042121

